2_ .
HW Set 20 Sechon 6+ 2 P“_’

To simplify notahon, write —klA for the statement Yk divides A"

) Test for divisibility by 37 by 92 by (1”7
s) 2,838 svmofdigits = 2 3|21, so DIV BY 3
9421, 50 NOT DIV BY 9
byﬂ’ S‘UMo-FoUﬂl‘*’SmwemP'wsc‘F o ‘ts = 8+8‘—'l6
Sum#&«glhlnodolm&xe{:lox = 243 =5
Do 11|(16=5)7 Yes i|Il, 3o DIV By Il

b) 34,521 sum of oua»cts =15 3]!5 so D\V BY 3
9415, 5o NoT DIV BY 9

.
by 117 sum of digals In evem powess of (O 5P oto = 345+1=19
’ sum of dugo 1 odd powess of 10 sPota = 4+ =6

Doea 11| (3-6)7 No u,ks) $o NOT DIV BY |l
¢) 10,23%)34| sum of dgdo = 18 3|18, so DIV BY 3
q|1g, so DIV BY 9

py 17 O+3+ 3+ =7 Y (1=7), so NoT DIV py I\
t+a+q+4=1l

nee N\LM-(\JDQVB‘/C'
(I‘t must be DIY BY 3

d) 792 DIV BY 3, DIV BY q, bivey i (since u,((wz)—q) or u]o)

e) 8,294% DIV By 3, NOT DIV BY 9, Nor DIV BY I

) 26,341 NoT DIV BY 3 NOT Div BY 9, NoT DIV BY 0

4) 333,333 DIVBY3, DIV BYA, biv BY (I (Sthee 11 (a=9) or o)
h) 179 NoT DIV BY 3, NoT DIV BY 9, NotT Div BY I 3+3T+3 34343

2) Test 5,192,132 for divisibility by 3, 4,5, 8,9, Il

last digek is a 2 (hetaOor 5), 5o NoT DIV BY 5

St diacks = 23 3423, so NOT DIV BY 3 onee ko NOTDNBY&)
om ok 47 j’/za so NOT DIV BY 9 it "’“"‘_‘?.j:‘_: be divisible qu)

£ huwber repessied IV B
4‘”‘ by LAST TWD DIEITS s DIV BY &

i rupber v sended So NOT DIV BY 8
8*‘32 by LAST e€DIGITS

sum of Ak M et of 1O 9P°T0— 5+q+‘+1=
Sumof 1A octdrmuugo{l[o;rao’fo-l+2—+3‘6
Does 1| (11-6)7 Yes u|ll, se DV BY I



3) Test 186,426 for divistbilty by 2,3 4,5,8,9, 19, [l
last dugek 15 a ¢ — DWW BY 2, NoT Div by 5, NoOT DIV BY 10

sumof digto = 37 3 27 - DIVBY 3 once Y knew DIV BY 4,
q|27 DIV BY 9 i+ must be DIV BY 3

4) 26 —> NoT DIV BY ¥ oce Y knew NET DIV BY 4—))
8 Y W2t > NoT DIV BY 8 it cam't be divisible by 8

Doea 11| (18=9)7 Mo 1LAA, 5o NOTOW By Il
f

g+u+ 6 I+64+2

9 (4A, p29) Divisibi Iy Tests for &, fr 5, for 3

5 It is true That £ lBlM/ Trew 3|m and 6|’m

———————

SGo m= 361 which shows B'W\ and é,lw\
The converse Is hot r\a.ua,ssahly true; Aor example,

3|ak and 6f24  beE 18 } 24
(‘hna:t is, 4 is divisible by both 3 and 6, bvt is not divisible by IQ)

Note - there Is o divis thility fest for 18
A wuiber is divisible by 18 £ and only if 1t s dvisible by

botw 2 and 4

Tre reason we ‘
of Land 4 IS 4 (s isn't true for The patr 3 and 6

have a common -f-»:)tor di(:Fcru\t Afrmn i) T\M""?’tk/ 3)

cam use 2 and 4 ismmomly common faclor
3 ard 6



